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6,000

6,000




fA H
2 WO
M

o
el Jl2el=H & Z&s (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

= 6,000 6,000 0

&=

©
o 0z
ro
P
ro
o
|0
-
Y
>
2
ton

>

6,000,000 6,000

Re 242=D| 300,000 120,000 180,000

160,000
160,000

EUNL

201 fet2E | 61,000 70,000 29,000

30,500
30,500

EUNL

01 At ]| 61,000 70,000 29,000
SRR M0l B 500,000& »38& 19,000

9,500
9,500

no o
=
ol

Mo

©

b

e HAH(&dUOE)H

800,000& »50& 40,000
20,000
20,000
OHl=s2 Xl 2,000,000 «1& 2,000
1,000
1,000

M

M

401 AIEHIZ 2 I 50,000 50,000 0

25,000
25,000

SURE

01 A& HI 50,000 50,000 0
OE-Y St CCTV &X 3,125,000 169 & 50,000

25,000
25,000

M

405 TtHobFH S| 189,000 0 189,000

94,500
94,500

EURLY

01 ML ESFHSH 189,000 0 189,000
= 2clx=HE 500, 000& »3007H 150,000

75,000
75,000

EUNL

O=g 42 0lsA IFA0I

10,000,000& *39H A 30,000
15,000
15,000
OHEZE - Hs2d ==Hg  200,000& 454 9,000
4,500
4,500

EUNL

M

SSdoty #5XE 20,000 30,000 A 10,000
6,000
4,200
9,800

MW

401 AIEHIZ 2 I 20,000 30,000 A 10,000
6,000

H




2M: 33
Mz HIIS 2
CHRl: MY ID|2elaH & 25 (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 4,200
= 9,800
01 Al&H| 20,000 30,000 A 10,000
O%sHJI=Z2 ssdY &=
5,000,000& *4 04 A~ 20,000
= 6,000
& 4,200
= 9,800
AN&=8 Alg] X4 92,000 0 92,000
= 28,000
= 64,000
201 LBt ]| 2,000 0 2,000
< 1,000
= 1,000
01 AP 22| d| 2,000 0 2,000
OHSY2AtE = 2,000,000& 2,000
o= 1,000
= 1,000
401 Al HI L 2 0HHI 90,000 0 90,000
= 27,000
= 63,000
01 Al& H| 90,000 0 90,000
oMMy D 22 2 3tALY
15,000,000 64 & 90,000
o 27,000
= 63,000
HII23l %= 6,355,431 7,313,834 A 958,403
MEHIISSENMAE 24 6,355,431 7,313,834 A 958,403
HEAE 2 623,593 578,407 45,186
101 2121 H] 4,200 4,160 40
04 JI2ZtHIZ2 2 NEE 4,200 4,160 40
OMEMHIISESENM2IE HE=HHE LAAA QI
22 150,000& x 14 23] 4,200
201 LBt | 406,268 214,571 191,697
01 AP 22| d| 81,186 73,186 8,000
O Ybt4==24| 43,491
(OPIR=E =11 4,000,000& 4,000
oss+ 500,000 x12& 6,000
oY .2 A=E2 12,0002 6L x12& 864
Oxgstd =842 1,000,000 13| 1,000
OZ2ANRA R2OoHHAAE 2922
110,000 x12& 1,320
OHEItE ZAE=EES 1,355,5630& x12& 16,267




SN B
M HII=3 >
& MBHIISsESEeMeE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONEE Nol=BNE 22BN+ =a
170,000& *8JH £ x4 3] 5,440
OMEE Kot sitBa =3
8,000,000& 8,000
Ost&Ea X a==2 300,000 23 600
ou=l 2,625
OMBHIISEHMY 22X Xei=
200,000& x5H +23| 2,000
Ootd 3t 75,0002 x5H 375
Oo=%9. &3t 50,0003 x5H 250
OEZ2X =4 8,000& x5H »x90 3,600
ozg=+¢ 26,430
O=2 50,0003 x 1 3652 18,250
O=Z(UHHMES £4) 10,0008 *1H*1162 1,160
oga 60,0003 x1H =117 7,020
ogdxs 5,040
o=l 400,000& x1CH*12& 4,800
Ozels st&EA Hid 20,0003 x1CH*12& 240
02 2524l 325,082 141,385 183,697
o0z&E2= & HMA 104,638
OMEHI SESEMAT HIILRS
8,500,000& x12& 102,000
Qg dMIIe3 50,000& x12& 600
ORrdgssd = 19,800& 128 238
OgANERL S (M)
150,000 »6CH 23] 1,800
O =zl 11,194
ogdxtz(ds) 1,355& %104 250 3,388
O=24I1(ER) 1,355& %154 *250 5,082
Oozels L AR U 2,724
~SHRUHZ2(ER) 908& 104 =100 908
-2 (ER) 908& 204 *1002! 1,816
O XH& & Byl 4,000
ogaAxte 2,000,000% = 1CH 2,000
O=4)| 2,000,000 = 1CH 2,000
OA&EHl Sl 21,500
OMeDI8tY HEAME =4
2,000,000& x13] 2,000
OHEI 2L =4 1,000, 000& *23] 2,000
OCCTV &EHl =4 1,500, 000& *23| 3,000
OHIIANE =& (E2rS2) 300,000 =104 3,000
SEHH =5EHZ MIANE >H
5,000,000& 5,000
Ozels dEsmX2el 2,000,000& *1= 2,000




EX: 831
Hz: HIIS3 %
e MEHI=SSEXNH2E 2Y (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OMEH (221 )& 500,000 x23| 1,000
OMEE 2==HiHM =27 100, 000& =5CH 500
OMEE &4 Y43 BI
2,000,000 =1CH 2,000
Odg ¢ &I A2 50,000 204 1,000
OHJIZXE B2 183,750
o2t 10,000 x18,000&= 180,000
o g 15,0003 *250& 3,750
202 044l 11,400 11,400 0
01 2Ll 11,400 11,400 0
oJI2ge=xa 150,000& x5 x12& 9,000
OMEHII=ESE Hel & dLE9
100,000 x2H x12& 2,400
206 M = Hl 25,725 34,176 AN8,451
01 X2 H| 25,725 34,176 N8,451
Og & A5AE 20,060
OEER, Y 30,000& 34 *170L 15,300
OaZFHMAHM 14,000 24 =170 4,760
oxg duA=s) 29 4,365
or:r 1,355& %204 =150 4,065
@k R=1g= 1,500& 14 =200 300
OMZE UM L3I AZH(FLR)
1,500& %104 =20 300
OEd SAZe HEME L HNESE 2
100,000& x10=& 1,000
207 &I & d 20,000 22,000 A 2,000
01 24| 20,000 22,000 A 2,000
OMEHIIS ASH |AIME dRg2A
20,000,000 20,000
301 et M= 45,000 0 45,000
12 JIEtE2 A= 45,000 0 45,000
OEXMOISF0 EEAHL2AEA 300,000 x150H 45,000
303 ZA& 2 2,000 2,100 A 100
01 LAZ 2,000 2,100 A 100
OMEHIISSSHAE 22K AL ZX
400,000 x5H 2,000
401 Al HIZL 201 Y| 60,000 290,000 A 230,000
01 Al&H| 60,000 290,000 A 230,000
OQAMINZE SHHH AAE AXI(2XH)
60,000,000 60,000
405 XHA&HF S HI 49,000 0 49,000
01 XML 2 FF S| 49,000 0 49,000




2M: 83
M HII=3 >
el MEBHIISES AT 29 (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OxXEg AUL=I(WH) 2,000,000% = 1CH 2,000
oOdgI(HEA, WAH) 6,000,000 *20H A~ 12,000
Occtv ZHI(H) 3,500,000 * 1004 2 35,000
MEHIIES X 29 4,815,000 5,575,000 A760,000
201 L2l 5,000 5,000 0
02 =224l 5,000 5,000 0
OANEZH RXNE=(HIALZEI| 2 48)
1,000, 000& *5H 5,000
307 glz2+ol & 4,810,000 5,570,000 A760,000
05 RIZHRI &t 3 4,810,000 5,570,000 A760,000
OEt= Med| 2UAAE A
178,000& *16,000& 2,848,000
OEt= Mo &x ¥ 28X
40,000& +16,000& 640,000
Oosa S fEH™ 130,000& *9,500& 1,235,000
OUgHII=E A& e 290,000& *300& 87,000
dE Held 29 61,272 69, 159 AT,887
201 Let24d] 22,912 30,799 AT,887
01 At 22/l 6,000 11,000 A5,000
oget2dl 6,000
OHES +TAN 24 248
500,000& x 123l 6,000
02 2324l 16,912 19,799 A2,887
O = Hl 9,912
O&ES 2N (ER)
1,355& %204 150 4,065
Og2>35dX 2 (ER)
, 355 *104 =150 2,033
O&&E2 Hel& HE(ER)
9083 *204 *2CH*105< 3,814
OXtg &EHl 3,000
OEgxsdHX 2EHxtE 1,500,000 = 1CH 1,500
O+ 2EXE 1,500, 000& = 1CH 1,500
OAdEHl Sl 4,000
O&&Ea+HMels A8 FA2al(532m)
2,000,000& 2= 4,000
206 = Hl 14,610 14,610 0
01 MHZ 4l 14,610 14,610 0
OFExHMc 43 & 423 14,610
OsJISEH 6,000 *x40kgx12& 2,880
Obld=s S2H 8,000 *80kg*12& 7,680
(@Fg=aRelFSE=2 3,500 x2H 1502 1,050




S 23HD
MM HIIS2E
S MEHIIZS2ZEN2HY 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OHES 89 A2 E 25,000 *10&5+12& 3,000
401 Al HI L £ 0HHI 23,750 23,750 0
01 A& HI 23,750 23,750 0
O&EHMZ JNHEH +=H(ZIIALE 2 55)
2,500,000& x65 15,000
O&EHdel dI|l4dHl =4 1,000,000& x5& 5,000
ogzdz =4 500, 000& *7.5km 3,750
SSHESE JEAE 29 855,566 869, 268 AN 13,702
101 @124 747,594 651,592 96,002
04 JI2ZtH22XNEE =+ 747,594 651,592 96,002
oMgEssE 2cl.848 28 658,741
oJl=3 64,8003 x21H x311 423,209
OFs Exx¥¢ 64,800 x21H x64 87,092
Osg=4¢ 32,4003 218 15 10,206
Or3asdsrd 64,8003 x21H =17 23,134
(@F=FSE=l 3] 100,000& 21 *x23| 4,200
OMEE 547,841,000& *11.6% 63,550
SRSE=, 2,800,000 x16H 44,800
OAE HYES 50,000& *21H 13| 1,050
& 24A XY 1,500, 000& 1,500
oMLY JIHEY o2 76,893
(OPIF== 76,100 x2H x311L 47,335
OF% . XY 76, 100& x2H 67 10,198
Osg=x< 38,050& x2H x 15 1,142
ORrssdY 76, 100& x2H 17 2,588
OY &SIyl 100, 000& *2H x23] 400
OMEH™ 92,494,000& *11.6% 10,730
OE &3 2,000,000& *x2H 4,000
OoAZE HEES 50,000& *2H *13] 100
O 24 Xzl 400,000& 400
(@M=l 11,960
Oo&g=s 150, 000& *23H 23| 6,900
Ootd3H. 229 &3 110, 000& *23H 23| 5,060
201 LEt2 Y| 49,838 56,542 N6,704
01 AFR2t2ldl 20,875 21,720 845
OMEESE HdE&Y HEES 19,435
ogtxorAa 1,000& x23YH 300 6,900
Ools2e &2 1,200& »23% *300 8,280
OHFZ 500& *23H x300 3,450
[@)=Rel ! 5,000& *x23H *13] 115
O&s . 2¥3 235 EAl 10,0003 x23H 33| 690




2AM: 2F
M HoISa
Hel: MEHIISSEME 2

g

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OFMESE(HMHM 2 58) 20,0003 x6Z * 128 1,440
02 2324l 28,963 34,822 25,859
O =l 16,963
OZSUHESHEANE HLER(ER)
9083 504 =105 4,767
OAJNZH(ER) 1,355@ %104 =300 4,065
Oat3d e (ZR) 1,355@ %154 =300 6,008
OHEE SYEA(HR) 1,355& 54 *x3002 2,033
O Xt & el 6,000
oAJlzd 2,000,000& «1CH 2,000
(OFSE=PNP/| PN 2,000,000& *1CH 2,000
Oat3a el 2,000,000& «1CH 2,000
OMESHEAL A2 722
20,000& =300m* 6,000
206 M= Hl 19,134 19,134 0
01 =4l 19,134 19,134 0
oMgsdglH 223 (s2Laed 2 38)
300,000& 45 1,200
ONMEESE 22d8 HY W= 17,934
O%H= (8mm) 25,0003 x150R = 3,750
OEHM(E) 10,000& 5001 x12& 6,000
OIHEHEHZ 2 95 18,000& 24 H » 122 5,184
ongss |SSEAM 1,500& *2,000kg 3,000
401 Al HIZ 201 I 39,000 142,000 A 103,000
01 A& HI 39,000 142,000 A 103,000
OMEES 22ld8 JIAHANE =2=d
13,000,000& «3& 39,000
HOI2 T3 2,750,389 5,323,943 A2,573,554
= 700,000
[ 44,643
i 2,005,746
SMH+SSH2UANE 2 2,750,389 5,323,943 A2,573,554
= 700,000
[ 44,643
s 2,005,746
II=2aXelAMdE 29 1,642,503 1,360,843 281,660
101 1Al 27,339 26,267 1,072
04 JIZtHZ22 s E+ 27,339 26,267 1,072
ON=E=eLSH A2 23,739
OoJlzs 68,7203 x 13 253 17,387
F . 2 68,7203 »1H x552 3,780
OFE S tHl 100,000& »1& »23] 200
OMEeE" 20,441,000& *11.6% 2,372




SA - ZE-B(EA) - NRAY - B S il
CEEEEIIEN EEEIEEE
150,000& »2H »33| x4 3,600
201 L2l 1,162,704
01 At 22l 756,842
OBt~ 33,402
O=2sHel RFL I+l
3,500,000& 3,500
OLEANE HEF =2 260,000 =128 3,120
O&EI| AEHAMN =2 1,200,000& »12& 14,400
ODINA GHEBAAMN =3 300,000& *23 600
ORgH NEIM =2 700,000& +6CH 4,200
OsHNEZIMN =2
250,000& #20H 2 23] 1,000
odz=)| deEgzg 70,000 20 128 1,680
Ozels 3tE | el &
20,000 =20 128 480
OfIdegs = 13,500& =128 162
OM=&gY AREF 2 100, 000& *33| 300
Oogs ¢ 2/ 30,0003 115 +128 3,960
ou =l 4,200
Oxg=E(st, = 200,000& x8H +23| 3,200
Ootd 3t 75,0002 x8H 600
O&st, 29 50,0003 »8H 400
ogxtz 5,800
o= 400,000 x1CH+128 4,800
OZEtel MEHFH Fdl 500,000& *23| 1,000
OH=XMcl 2L (&2 X) ?IEHe
110,000& *500E +12& 660,000
O H DI o 38,000,000& x13] 38,000
OEX XA st 24 5,000,000 =14l 5,000
OEXN E& =28 4,000,000& =14 4,000
O=sX 88 &3 5,000,000 =14 5,000
E2T A 8,000& »2H »x90 1,440
23224l 405,862
ozE2= & HA 385,330
OI=E2I3HeE IR
32,000,000& x12& 384,000
O&dt==E23 90,000& x12& 1,080
OAgotdH 3l | 200,000& x13] 200
OLYINAANDHY EFHZ 50,000& x13] 50
O Xt& & Byl 5,000
oz 5,000,000 = 1CH 5,000
oA ZHl 3,632




2AM: 2F

M. HOl2 X
Sl ZMHATBHAANL 29 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OSIYXNE H2(SR)
9083 *x204 *2CH =100 3,632
O A& &H|l R4 11,900
OIIEE=Held CCTV B 400, 0003 =6 CH 2,400
OLHANERNE > 1,500,000& x1JH 4~ 1,500
OA=s= L &4l SA2e
1,600,000& x50 = 8,000
202 04| 11,400 11,400 0
01 2LHOHI 11,400 11,400 0
oJ2gRFa 150,000& x5Y x12& 9,000
O2LHe YLE U DA
100,000& x2H x12& 2,400
206 M = Hl 426,460 344,150 82,310
01 X bl 426,460 344,150 82,310
ogtsts U= 365,400
O MA20|8 2403 *25,000kgx 122 72,000
OALH3I 160& *25,000kg* 122 48,000
ORJISEH 7,000& *850kg* 12& 71,400
O AL A 800& *4,500kg* 12 43,200
OMHLA 160& *41,000kg* 122 78,720
OAZH 3,600& *9,000kg 32,400
OnleE= 6303 *1,400kg*12& 10,584
(OPIF-ESS; 360& *3,500kg*6E 7,560
OXOIE AMLES 320& *800kg*6& 1,536
OLLEXNCIAELZE IJtA 57,060
A 120,000& x14S «12& 20,160
A 410 *7,500kg* 122 36,900
OaEAa Al Y E=XI|F 100,000& x408 4,000
303 A2 3,600 3,600 0
01 ZAZ2 3,600 3,600 0
O2R2 A A2LHX 400,000& »9H 3,600
405 XtabF SHI 11,000 0 11,000
01 AL 2 EF SHI 11,000 0 11,000
ozcls AMAE A X 5,500,000 x2CH 11,000
S22 XN2AIE X2 243,600 255,100 A 11,500
206 M = Hl 19,600 27,100 A7,500
01 M= bl 19,600 27,100 AT7,500
OXel&E A& B2 17,500
oY AREE 50 200,000& x50& 10,000
O&Il & JIH A2F 505 150,000& *505 7,500
OxZ&=sd) 22 350,000& 3 *23] 2,100




2M: 33
Hz: HIIS I
e SAHEZ2SXH2AIE 2Y (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
401 AlEHIZL 2 0HY| 224,000 228,000 A4 ,000
01 Al&H| 224,000 228,000 A 4,000
Ostst & Sel® Heldd RAESE
3,000,000 x15= 45,000
O&FHMEIAIE RIS 14,000,000 x4 = 56,000
ODIME BISAIEd RAE4 2,750,000 8= 22,000
OEtANE SRANES 8,000,000 =2CH 16,000
OJIAHAEH SAE 2,000,000& 16 32,000
OdIIALH KA 400,000& 15 6,000
OH=E28 E JIEF &Hl X
5,000,000 5= 25,000
O%== JMXIXIJl 2AH 22,000,000& = 14! 22,000
IIEE2aZ22Hd2lAe &x X 114,286 3,040,000 N2,925,714
= 100,000
& 7,143
= 7,143
402 SI2t X0l ™ 114,286 3,040,000 N2,925,714
= 100,000
= 7,143
= 7,143
02 QX E A E X (0| X THSH) 114,286 3,040,000 N2,925,714
OI=2aZ2Z2X2lAld 84X K&
114,286,000 =104 & 114,286
= 100,000
o= 7,143
= 7,143
IEES2aZ22H2lAAE JHA ALY 750,000 150,000 600,000
= 600,000
= 37,500
= 112,500
401 Al HI L £ 0HHI 750,000 150,000 600,000
= 600,000
& 37,500
= 112,500
01 Al& B 750,000 150,000 600,000
OJ=2aXelAld HE A 750,000,000 750,000
= 600,000
&< 37,500
= 112,500
HM2IAH (2 331,851 321,073 10,778
lE2old 29| 164,811 150,981 13,830
SHHZAl QE2AY| 35,330 32,319 3,011
101 e1214| 35,330 32,319 3,011
03 2IHAZ2ZXNHE = 35,330 32,319 3,011




S 23HD
Mz HMSAHH (Z )
Sel: Jl=el 2y (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oJlez 2,112,000& x1H «12& 25,344
O ZF&E = Ith| 2,112,000& *75%*23] 3,168
OPIEE=8=] 60,000& x1H x12& 720
ORE Y 40,000 x1H +x12& 480
OXAH&EHALE 30,000& *1H x12& 360
OxU224+Y
12,325& x 1 x1 SHI *10A 2tx 128 2,219
(ORuPNE=y 98,6003 *1H 15 1,479
O3l 130,000& x12& 1,560
SAMSHFAE o=F2HY| 51,122 50,637 485
101 @121 51,122 50,637 485
03 2IAHALZZXHE = 51,122 50,637 485
oJlez 2,019,000& x1H «12& 24,228
O ZF&E FItt| 2,019,000& x1H 23| *75% 3,029
oONg&EHA 30,000& *x1H x12& 360
OP = 60,0002 *1H +x12& 720
OANZAZRY 15,6383 *1H *x50A| 2tx 128 9,383
oxsdzzs4 15,6383 15 x35A| 2+ x12& 6,568
ootz ¢ 5,213 1A x10A| 2tx 128 626
OF==1] 130,000& x1H ~12& 1,560
(@ORSPNE= 83,4003 x1H x 15 1,251
OMEE (DE,5TH) 47,240,000 *5.55% 2,622
(ORTE==3]l 525
O&g=(ot,sH) 200,000& x1H 23] 400
OCtA™ 3t 75,000& x14 75
O&sH, 29 50,000& =1 50
(@)% Ns] 50,000& x 15 5 250
NEEAIE ol 2| 78,359 0 78,359
101 @121l 78,359 0 78,359
03 I HL22 X+ 78,359 0 78,359
OZ22 2 (MEHII=SEe Xl &) 76,359
(OPIF== 1,950,000 x2H 128 46,800
Og &=yl 1,950,000& *2H *23| *75% 5,850
O&gHHATY 30,000& x2H x12& 720
[Or=2=1:l 130,000& x2H »12& 3,120
OAZIA2 R4 11,2623 x2H x4 A 2+ x12& 1,082
Osdz2zse 11,2623 x2H 32 Al 2t 12 8,650
OIESY 260,000& x1H x12& 3,120
OdR=¢ 85,5743 x2H 15 2,568
OMEH™ 75,830,000& *5.55% 4,209
O 0 bl 10,000& x 1 »24! 240
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